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1. I &3t Wi & a +ib gu fé9 =ang -
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° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qTdv3eXU9MrY
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° Watch Video Solution
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° Watch Video Solution
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https://dl.doubtnut.com/l/_qTdv3eXU9MrY
https://dl.doubtnut.com/l/_OJzvkhJhU9Mi
https://dl.doubtnut.com/l/_uUQMlGwnPTeY
https://dl.doubtnut.com/l/_IZonKZqyfZtE

o Watch Video Solution
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https://dl.doubtnut.com/l/_IZonKZqyfZtE
https://dl.doubtnut.com/l/_iqyraZWOJyQw
https://dl.doubtnut.com/l/_fmW3jM3nH5wq
https://dl.doubtnut.com/l/_d1EzbstUEo6R

7. 3o 3t At § o +ib QU f€9 EIHE -

(D) (ot (449
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https://dl.doubtnut.com/l/_d1EzbstUEo6R
https://dl.doubtnut.com/l/_j5Q57OQBCaf1
https://dl.doubtnut.com/l/_J2sjprOJdaRb

‘ ° Watch Video Solution
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° Watch Video Solution



https://dl.doubtnut.com/l/_J2sjprOJdaRb
https://dl.doubtnut.com/l/_SZF2GBUe8Rfo
https://dl.doubtnut.com/l/_t1d7t4TyT2kX
https://dl.doubtnut.com/l/_Y9MdOvsMHYE3
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° Watch Video Solution
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—1

o Watch Video Solution



https://dl.doubtnut.com/l/_Y9MdOvsMHYE3
https://dl.doubtnut.com/l/_qRpQQ9TGSrLR
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o Watch Video Solution

15. 95 3t fimfas At & WY wig w13 wirggiie
U3Tadi-z = — 1 —144/3

° Watch Video Solution



https://dl.doubtnut.com/l/_Gq9XmDerzSYv
https://dl.doubtnut.com/l/_xmmm0vnow9uG

16. J& 3t fimfags At & WY wix w13 wirggie

USTadi-2 = — /3 + 1

o Watch Video Solution

17. 3& &3t fHmfgs At & uget gu &g 9e8:-

1—1

o Watch Video Solution

18. & f&3t fimfgs Hitmr & gget gu fég ae&:-

—1+4i


https://dl.doubtnut.com/l/_jpgTJBGoiYkR
https://dl.doubtnut.com/l/_C4QtfQRoFzft
https://dl.doubtnut.com/l/_6dSKmjKWQzvz

° Watch Video Solution

19. J& 3t fHmafgs Hitmr & uget gu €9 98-

—1—1

o Watch Video Solution

20. I 3t fHmfags Ay & uget gu €9 9e8:-

-3

° Watch Video Solution



https://dl.doubtnut.com/l/_6dSKmjKWQzvz
https://dl.doubtnut.com/l/_wxi6tmvVAj5n
https://dl.doubtnut.com/l/_yq6iGNVWscWq
https://dl.doubtnut.com/l/_W2dRBFSQhKZG

21. I &3t HAfgs Hitmr & gget gu feg ae8:-

V3t

° Watch Video Solution

22. 35 13t fHufgs Hitm & uget gu fég ge8:- 4

° Watch Video Solution

23.35 feft miflege §d8 ad:-22 + 3 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_W2dRBFSQhKZG
https://dl.doubtnut.com/l/_CGtS8f2ioPvR
https://dl.doubtnut.com/l/_SVrsKr7qdisq
https://dl.doubtnut.com/l/_ad6xgojF6WKm

24,35 et mflege d s ad-22> + 2 +1=0

° Watch Video Solution

25.35 feft mflege s ad-22 + 32 + 9 =0

0 Watch Video Solution

26.35 f¥st milage I8 ad- — 2 + 2 —2=10

° Watch Video Solution



https://dl.doubtnut.com/l/_ad6xgojF6WKm
https://dl.doubtnut.com/l/_kaYKeJOVsgyy
https://dl.doubtnut.com/l/_vnAGR8q8CyEP
https://dl.doubtnut.com/l/_ErEsIceDSvz6

27.95 fdft mftege §dg - 22 + 32 + 5 = 0

° Watch Video Solution

28.9a f&t mfldge § 8 ad-22 — 2 +2 =10

o Watch Video Solution
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https://dl.doubtnut.com/l/_ErEsIceDSvz6
https://dl.doubtnut.com/l/_WEhVXhhtbxjH
https://dl.doubtnut.com/l/_EQIPXIBCTw3u
https://dl.doubtnut.com/l/_uz82hAVgPvYs
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° Watch Video Solution

32.35 Rt mftaae & 35 93 22 + % +1=0
2

° Watch Video Solution



https://dl.doubtnut.com/l/_uz82hAVgPvYs
https://dl.doubtnut.com/l/_BIROwVvB5NSZ
https://dl.doubtnut.com/l/_ZVKuLAhKWS4G
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https://dl.doubtnut.com/l/_SpGV4m6xEBUN
https://dl.doubtnut.com/l/_eLUPe3ZphZHC
https://dl.doubtnut.com/l/_xQXJ8ugXua6u

‘ ° Watch Video Solution

° Watch Video Solution
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° Watch Video Solution



https://dl.doubtnut.com/l/_xQXJ8ugXua6u
https://dl.doubtnut.com/l/_D6lyzV2XTm7b
https://dl.doubtnut.com/l/_gxBI0zaokyZu
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° Watch Video Solution



https://dl.doubtnut.com/l/_FCqgoS6z29Wq
https://dl.doubtnut.com/l/_lxvoYQpgUS5y
https://dl.doubtnut.com/l/_zpHCckjS541V
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i
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o Watch Video Solution
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° Watch Video Solution
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https://dl.doubtnut.com/l/_rjMZrRXfrZr8
https://dl.doubtnut.com/l/_ebbK3f2CB63o
https://dl.doubtnut.com/l/_6JCw2fU9yvc7

° Watch Video Solution
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o Watch Video Solution

459688 21 =2 — 4,20 = — 2+ i 3 YIT II:-
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° Watch Video Solution



https://dl.doubtnut.com/l/_6JCw2fU9yvc7
https://dl.doubtnut.com/l/_h1AwjE4Mtrkp
https://dl.doubtnut.com/l/_jTDb9zLhRAU2
https://dl.doubtnut.com/l/_HblEmwMMJsfa
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° Watch Video Solution

48. TH3fed HAfynmel x M3 y U3T I3 Add

(z — iy)(3 + 5i), — 6 — 24i T HYIM J2|


https://dl.doubtnut.com/l/_HblEmwMMJsfa
https://dl.doubtnut.com/l/_4fZ7noTxiM4p
https://dl.doubtnut.com/l/_3Tgllb05dbXs

o Watch Video Solution
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. — T HY Mg YT I3
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49.

° Watch Video Solution
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https://dl.doubtnut.com/l/_3Tgllb05dbXs
https://dl.doubtnut.com/l/_yUAXBNnbLH7Z
https://dl.doubtnut.com/l/_eYcGQZ04JWkz

51. Add a M3 [ MBSl Hafg3 Aftmet Ja
m3 |6 = 13,3
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o Watch Video Solution

52. AHidae |1 — i|* = 2° € Jig-fHag Ayga I8 &t
farest uzT 33|

° Watch Video Solution

53. Had

(a +ib)(c +id)(e + if )(g+ih) = A+ iB


https://dl.doubtnut.com/l/_SjycZe7NidRJ
https://dl.doubtnut.com/l/_aGLm04WVRL0q
https://dl.doubtnut.com/l/_1HRwpAtX2ny1
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° Watch Video Solution
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° Watch Video Solution



https://dl.doubtnut.com/l/_1HRwpAtX2ny1
https://dl.doubtnut.com/l/_EHQFqrK0tVen
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° Watch Video Solution

2. &8 f&dmi & a+bi gu &9 wIAQ-
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° Watch Video Solution



https://dl.doubtnut.com/l/_LsB5V8uRc2b9
https://dl.doubtnut.com/l/_J5syNVcZtkZQ

3. I f&3i & a+bi gu fé9 wIAE:-

()20 ( - %)

° Watch Video Solution

4.(5 — 3i)° @ a + bi gufég =g

° Watch Video Solution
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https://dl.doubtnut.com/l/_kyPZ6ntowfPE
https://dl.doubtnut.com/l/_SbhGBz7kzxVS
https://dl.doubtnut.com/l/_8AjsBD521rwP

| W Watch Video Solution

6.2 — 3i T JIT3HS B U3 I3

o Watch Video Solution
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7.3 €38 a + ibgU g TaH G- —————
1 — /2

0 Watch Video Solution

8.6 38 a +ibgufeg Eam:-i %

l 0 Watch Video Solution


https://dl.doubtnut.com/l/_8AjsBD521rwP
https://dl.doubtnut.com/l/_fbVrjHcGIDR8
https://dl.doubtnut.com/l/_pfsa4hlHFYJ6
https://dl.doubtnut.com/l/_FVqSuBKooLAa

9. fHefgs Higm™ 2 =1+ i,/3 & uget gu €9
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° Watch Video Solution
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10. fHHEfa3 Aty & Uget gu feg ae8|

° Watch Video Solution

Nz’ +z+1=08I833I



https://dl.doubtnut.com/l/_FVqSuBKooLAa
https://dl.doubtnut.com/l/_jY4dMmqjF7Di
https://dl.doubtnut.com/l/_Pearj7FMYzQf
https://dl.doubtnut.com/l/_2uAXATUA0MeE

I 0 Watch Video Solution

12./52% +z + /5 = 03 I8 3|

° Watch Video Solution

13. (- 27:_)(2 T S,i) T HGAH UST S |
(14 24)(2 —9)

o Watch Video Solution

14. 35" &3t HEfgs At &1 Hryig w3 »irggie
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https://dl.doubtnut.com/l/_2uAXATUA0MeE
https://dl.doubtnut.com/l/_UUeMR4ADV8Qr
https://dl.doubtnut.com/l/_5OsAhW0Z57gV
https://dl.doubtnut.com/l/_9N5Ruj94BZEA

° Watch Video Solution
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1
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o Watch Video Solution

16. Hdd :c—l—z'y:a—i_,&b,BT' ffa a3 fa

° Watch Video Solution



https://dl.doubtnut.com/l/_9N5Ruj94BZEA
https://dl.doubtnut.com/l/_6UqrlZOahKyQ
https://dl.doubtnut.com/l/_Ceo3B3kEXx7u
https://dl.doubtnut.com/l/_4n5H6DavixJp

17. 6 T EH3fed S U3™ a3 fd 3 + 2isinf fage

1 — 2isinf
eH3fea 2|
° Watch Video Solution
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18.fHHfgS A 2 = — S uget gy
COS — +12SIn — N
3 3
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https://dl.doubtnut.com/l/_4n5H6DavixJp
https://dl.doubtnut.com/l/_uPoc8WCGmNZ0

